{Iien=Mnde|e,FurmuIeSansChauﬁeur}B]

<< antité> >
Modele

<<identifiant>>id

nom
tarifkmSupplementaire
nbPlaces

- vitesseMax
description
T
<<entité=> . 0..*
Formule T- —
<<gssociation=>
<< jdentifiant==id Tarification
libelle
tarif
1..%
{partition}
1
FormuleAvecChauffeur FormuleSansChauffeur
lieuDestination duree
tarif nbkKmiInclus

<< entité>>»
Vehicule

<<entité=>
Pays

<< jdentifiant>=immatriculation
dateAchat

<< jdentifiant==id
N

<< antité> >
Location

< <antité> >
Client

<< jdentifiant>=>numlLocation
dateLocation

montantRegle
dateHreDepartPrevu
dateHreDepartReel
dateHreRetourPrevu
dateHreRetourReel

{partition}

< <jidentifiant>=id
NoIm

prenom

mail

tel

adresse

cp

ville

motDeFasse

LocationSansChauffeur

LocationAvecChauffeur

nbKmDepart
nbkmPRetour




<<entité>>

<<entité>>
Pays

< <identifiant>>id
nom

1

0..F

<<entité>>
Client

< <identifiant>>id
nom

prenom

mail

tel

adresse

(=2)
ville
motDePasse

LocationAvecChauffeur

Vehicule
<<entité>> -
Modele 1 O.. < <identifiant>>immatriculation
dateAchat
< <identifiant>>id
nom
tarifKmSupplementaire
nbPlaces 1
vitesseMax
description
depotGarantie
1 0..=
{ien=Modele,FormuleSansChauffeur}
= <<entité>>
R Location
< <identifiant>>numlLocation
datelocation
== montantRegle
<::::_.t:l>e> e 0..= dateHreDepartPrevu 1..=
= SR dateHreDepartReel
< <identifiant>>id = < dateHreRetourPrevu
libelle Tarification dateHreRetourReel
tarif
{partition}
{partition}
FormuleAvecChauffeur FormuleSansChauffeur LocationSansChauffeur
lieuDestination duree nbKmDepart
tarif nbKmiIndus nbkmRetour .
0..= coutEstimeReparations
o
{un contrdle est réalisé au
départ ou a la restittion }
0..1
<<entité>>
eC pl aire e <enbtes= <<entité>>
id Controle Salarie
nom id id
descnphan dateHreControle P 3 nom
observation s S C=z
1
< <assodation>> 1
{ien= AssuranceComplementaire, Garantie
13.% =
<<association>> 0..*
Protection < <association=>> <2enti13é>>
tauxReductionFranchise Dommage Eavates
= id
1.5 | o.. 1 |libelle
~ § 5
1 < <assodation>>
{ien= Controle, Element} 1
<<entité>>
Garantie <<entité>>
= Element
id
libelle id
franchiseDebase nom




